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\documentclass{beamer}

Yusepackage[utf2]{inputenc}
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18  ‘hwsecolortheme{beaver}

11 ‘\usepackage{sraphicx}

12 ~ \begin{document}

13  ‘\maketitle

14 ~ ‘\section{}

15 = ‘\hegin{frame}{Example 9.5}

16 = \begin{itemize}

17 Vitem Let S\mathbf{x}=(x_1, “ldots,x_n}%, where the $x_i$% are non-negative real numbers. Set
VIM_r(\mathbf{x}}= ‘\left(\frac{x_lsr+\cdots+x_nrr}{n}hright)2{1/r}, \: \; r Vin \mathbf{R}
\setminus Y{8%},\] and \[M_o{\mathbf{x})= \left{x_1 x_2 ‘\ldots x n “rightis{l/n}.%] We call
SM_r(\mathbf{x})% the ‘emph{$rith power mean} of S$\mathbf{x}5.\\

18 Claim: ‘\[\lim_{rirightarrow 8} M_r{\mathbf{x})= M_8{\mathbf{x}}4]

19 ‘end{itemize

20 ‘\end{frame}

21 = ‘\begin{frame}{Example 9.5}

22 = \begin{itemize}

23 “item Define \[V_n=\left[\begin{array}{ccccc}

24 1&1&1E& \ldots & 1 %)

25 x 1 &x 2 & x3 & \ldots & 1 %\

268  x_1*2 & x 272 & x_342 & \ldots & x_n*2 \}

T \wiots & \vdots & ‘wdots & ‘ddots & ‘\wdots \\

28 x_14{n-1} & x_2*{n-1} & x_3*{n-1} & ldots & x_n*{n-1}

29 ‘end{array}\right].\] We call $V_n$ the ‘\emph{Vandermonde matrix} of order $n%.\\

3@ Claim: \[hdet ¥_n = Yprod_{1 Yleg i < j Vleg n}{x_j-x_i).\]

31 ‘end{itemize

32 \end{frame}

33 ~ \begin{framel{Question 4. Make the following equations.}

34 = \begin{itemize}

35 Vitem $5343+44345403 = 543451

36 \item $$\sqrt{100} = 1055\

3T \item $5(a+b)*3 = a*3+3a*2b+3abr2+br3554)

38 Vitemd [hsum_{k=1}*{n} k = \fracin{n+1)F{2}\]1\\

349 Vitemh [Nfrac{\pil{4}=\frac{1}{1}-\frac{l1}{3}+\Ffrac{1}{5}-\frac{1}{7}=\frac{1}{9}-\frac{1}{11}+\1d
otsh]

40 ‘end{itemize}
41 \end{frame}

42 = \begin{frame}
43 = \begin{itemize}

44 Viteméshcosh theta=\sin(98t0-Ytheta) 5541
45 VitemSser{i\ thetal="cos\theta+i\sin\thetassh
45 Vitemh [\ lim_{\theta ‘\rightarrow 8}\frac{\sin\thetal}{\theta}=1\]4}

i Vitem\ [\Lim_{x ‘\rightarrow \infty}\ frac{ipi (=) =/ \log x}=14]4%
45 Vitemh [Vint_{-\infty}*{\infty} er{-x*2}dx = ‘\sqrt{x}\]

49 \end{itemize}

58 ‘end{frame}
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51 = ‘“begin{frame}{Question 5. Typeset the following sentences.}

52 = \begin{itemize}

53 \item Positive numbers a, b, and ¢ are the side lengths of a triangle if and only if $a+b>cs,
thecras, and Sc+arbs.\\

54 Yitem The area of triangle with side Llengths a, b, ¢ is given by \emph{Heron's formula}:
$§h=\sqrt{s(s-a) (s-bd (s-c)},$3\\where s 15 the semiperimeter Sa+b+c/25.\\

55 Yitem The volume of a regular tetrahedron of edge length 1 is S\sqrt{2}/125.

56 Vitem The quadratic equation $axr2+bx+c=8% has roots $5r_1,r_2=\frac{-b\pm\sqrt{br2-dac}}{2a}5%

87 \end{itemize}
58 \end{frame}
58 = \begin{itemize}

60 “item The derivative of a function f, denoted 5fs\primes, is defined by $5fs\prime(x)=\1lim_{h
\rightarrow 01\ frac{f({x+h)-f{x)}{k}.5%

61 \item A real-valued function f 45 \emph{convex} on an interval ‘emph{I} if 54f(\lambda x +
(1-Ylambda)y)\leqg\lambda f(x)+{1=\lambda)f{y),5% for all 5x, y\in$ ‘emph{I} and %0 \leg \lambda
\leg 1.5

62 Vitem The gemeral solution to the differential equation \[y*{\prime\prime}-3y*\prime+2y=0%] is
\[y=C_lerx+C_2er{2x}.\]

63 \item The \emph{Fermat number} %(F_n') is defined as \[F_n = 24{2{nl}, n \leg @.\]

64 \end{itemize}
65 = \begin{frame}{Question 6. Make the following equations. Notice the large delimiters.}
66 = \begin{itemize}

67 Vitem \[VFrac{dHdxH left (\frac{x}{x+1}\right)=\frac{1}{ (x+1)"2}}]
68 Vitem \[\lim_{n \rightarrow Yinfty}\left(l+\frac{1}{n}Yright)rn=e\]
69 Vitem \[\begin{vmatrix}

70 a & b\\

7L c & d\y

T2 \end{vmatrix} = ad-hch]

13 hitem \[R_\theta =%left[\begin{array}{cc}

74  \cos ‘theta & -\sin \theta \\
75 \sin \theta & \cos \theta

76 \end{array}\right]\]
77 \end{itemize}

78 \end{frame}

79 = \begin{frame}

B0 = \begin{itemize}

8l Yitem', [\begin{vmatrix}

a2 i & 3 & K\

a3 a_l & a_2 & a_3\\

a4 b_l &b 2&b_3

a5 \end{vmatrix} = \begin{vmatrix}

ag a_2 & a_\\

87 b2 & b_3

a8 Yend{vmatrix}i- \begin{vmatrix}

89 a1l & a_3\\

4@ b_l & b_3

g1 hend{wvmatrix}j+ \begin{vmatrix}

92 a_l & a_2\\

93 b 1l & b_2

94 hwend{vmatrix}ki i\

a5 “item' [\begin{bmatrix}

96 a_{11} & a_{12}\

97 a_{21} & a_{22}

98 \end{bmatrix}

99 = \begin{bmatrix}

100 b_{11} & b_{12}\\

161 b_{21} & b_{22}

le2 \end{bmatrix}=

183 -~ Ybegin{bmatrix}

1o4 a_{11}b_{11} + a_{12}b_{21} & a_{11}b_{12} + a_{12}b_{22}\\
165 a_{213b_{11} + a_{22¥b_{21} & a_{21}b_{12} + a_{22}b_{22}
186 Yend{bmatrix}i]ih

le7 \item\[f(x) = \begin{cases}-x*2 , x<8\\x2 , @\le x\le 2\\4 , x>2\end{cases}\]

168 ‘\end{itemize}
189 ‘end{frame}
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\end{ frame}
= \begin{frame}{Question 7. Make the following multi-line equations.}
= ‘begin{block}{Part 1}
» \begin{align+}
142 ‘\quad &= ‘quad 3\\
44546 ‘\quad &= ‘quad T+8\\
9+10+11+12 ‘quad &= ‘quad 13+14+15\%
16+17+18+419420 ‘quad &= ‘quad 21+22423424\),
25+26+27+28429+30 \quad &= ‘quad 31432+433+34435
Vend{align#}
Vend{block}
Vend{ frame}l
= \begin{frame}{Question 7. Make the following multi-line equations.}
= \begin{block}{Part 2}
* \begin{align+}
(a+b)*2 ‘quad &= ‘gquad (a+b){a+b)\}\
&= ‘quad (a+b)a + (a+bib\\
&= ‘quad a(a+b) + bla+b)\\
&= \guad a*2+ab+ba+bt2\\
&= ‘quad a*2+ab+ab+br2\}
&= ‘quad a*2+2ab+b*2
\end{align+}
Yend{block}
\end{ frame}
= \begin{frame}{Question 7. Make the following multi-line equations.}
= \begin{black}{Part 3}
= \begin{align+}
\tan(\alpha+\beta+\gamma) ‘quad &= ‘\quad
\frac{\tan(\alpha+\beta)+\tan\gamma}{1l-\tan(\alpha+\beta)'\tan\gammal}\\
&= ‘quad ‘\frac{‘\frac{\tan\alpha+\tanibeta}{l-\tan\alphaitan\beta}+\tan\gamma}{l-\left(\frac{\tan
alpha+\tan\beta}{1-\tan‘\alpha'tan\betal\right)\tan\gamma}h\,
&= ‘quad ‘frac{\tan\alpha+\tan\beta+{1-\tan\alpha\tan\beta)\tan\gamma}{1-\tan\alpha\tan\beta-{\ta
nhalpha+\tan\beta)\tan\gammal}’’,
&= ‘guad ‘\frac{\tan\alpha+\tan\beta+\tan\gamma-\tanialpha\tanibeta\tan\gamma}{1-'tan\alpha'tanibe
ta-\tan\alpha\tan'gamma-\tan\beta'\tan'gamma}
‘end{align+}
\end{block}
\end{frame}
* \begin{frame}{Question 7. Make the following multi-line equations.}
« \begin{block}{Part 4}
= \begin{align*}
\prod_{p}\left(1-\frac{1}{p*2}\right) \quad &= \quad
\prod_{p}\frac{1}{1+\Frac{1}{pr2}+\Frac{l}{p*4}+\cdots}\}
&= ‘quad \left(\prod_p\left(1+\frac{1}{pr2}+\frac{l}{prd}+\cdots\right) \right)~{-1}\}
&= ‘quad \left(l+\frac{l}{2*2}+\frac{1}{3r2}+\frac{l}{d*2}+\cdots\ right)s{=1}\}
&= ‘quad \frac{6}{\pir2}
\end{align+}
\end{block}
\end{ frame}
* \begin{frame}
Vincludegraphics[width=11cm,height=8cm]{istockphoto.ipg}
Vend{ frame}
‘end{document}




